Diagramm - Mischkulturen
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Aubergine + - + + |+ - + Aubergine
Bohnen + + +|+]|+|+]|* + + |+ |+ +|+]|+ + Bohnen
Brokkoli/Karfiol | + + + Brokkoli/Karfiol
Chinakohl + + + + Chinakohl
Erbsen + + | + + + + | + + + |+ + Erbsen
Fenchel + + Fenchel
Gurken - + + + + + + |+ Gurken
Herbstriibe Herbstriibe
Karotten - + + | + + |+ - + + |Karotten
Kartoffeln + |+ + + -+ Kartoffeln
Knoblauch + + + + + |Knoblauch
Kohlrabi + + + + + |+ |+ Kohlrabi
Kohlsprossen + + + - + |+ |+ Kohlsprossen
Kopfsalat| + + |+ |+ + + + |+ |+ . + |+ Kopfsalat
Kraut/Blaukraut| + | + - - - + + + |+ - + Kraut/Blaukraut
Kiirbis + + + + + Kurbis
Lauch + + + |+ + + |+ Lauch
Mais + + + + + + Mais
Mangold + - Mangold
Paprika/Chili + - + Paprika/Chili
Pastinaken + + + |+ + + |Pastinaken
Radieschen/Rettich - + + + + + + - Radieschen/Rettich
Rote Bete.+ + + | + + |+ - + | + |Rote Bete
Schwarzwurzel + + + + + Schwarzwurzel
Sellerie + |+ + + + + + Sellerie
Spinat| + | + - + - + |+ + - - - Spinat
Tomaten + + |+ + + + + |Tomaten
Zucchini + + + + |Zucchini
Zwiebel + + + + + + |+ Zwiebel
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INachbarn: Schlechte- Gute IL' Neutrale | I

https://www.schwarzgruber.site/

W Blaciy’s Blo-Gasien
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